
1) An amount was increased by 7.4% to 
$143.00. Find the original amount.

Answer: ____________

2) Find the percentage change from 10 to 
15

Answer: ____________

3)
125

8 /12

Answer: ____________

4) $46.00 earning 1.9% compound 
interest for 9 years.

Answer: ____________

5) 54.3 - 61.7

Answer: ____________

6) $25.00 earning 4% compound interest 
for 4 years.

Answer: ____________

7)
49

4 /8

Answer: ____________

8) 8/2 + 9/1

Answer: ____________

9) (-96) ÷ (-8)

Answer: ____________

10)
16

5 /10

Answer: ____________

11)

A = 38  B
Find the Angle at side B.

Answer: ____________

12) Find perimeter of 
triangle
a = 27 m , b = 79 m

Answer: ____________

13)
25

7 /14

Answer: ____________

14) 34/5 ÷ 12/5

Answer: ____________

15)

A B = 23
Find the Angle at side A.

Answer: ____________
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16) 58.74 ÷ 3.3

Answer: ____________

17) Factorise 5s2 + 29s + 20

Answer: ____________

18) Increase 50 by 30%

Answer: ____________

19) 'What is the probability of rolling a 
number less than 4.when rolling a 
dice

Answer: ____________

20) 58 - 16

Answer: ____________

Total: ___ / 20
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Answers:

1) $133.15 2) 50% 3) 25 4) $54.49 5) -7.4 6) $29.25 7) 7

8) 130/1 9) 12 10) 4 11) 142 12) 185m 13) 5 14) 25/7

15) 157 16) 17.8 17) (1s + 5)(s + 4) 18) 65 19) 1/2 20) 42
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